

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





# State of West Virginia Solicitation Response

Proc Folder: 1122832

Solicitation Description: CHRYSLER OEM OR EQUAL PARTS - 0523C1017

Proc Type: Central Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2022-11-22 13:30
 SR 0803 ESR11222200000002479
 1

**VENDOR** 

VS0000040855

Abacus Quality System Services, Inc.

Solicitation Number: CRFQ 0803 DOT2300000059

**Total Bid:** 85496 **Response Date:** 2022-11-22 **Response Time:** 13:22:35

Comments:

FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566 john.w.estep@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Nov 22, 2022 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	SERPENTINE BELT - PART NO 4593852AB	24.00000	EA	448.000000	10752.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

#### **Commodity Line Comments:**

#### **Extended Description:**

SERPENTINE BELT - PART NO 4593852AB

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	STARTER - PART NO. 56044736AC	12.00000	EA	446.000000	5352.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

#### **Commodity Line Comments:**

#### **Extended Description:**

STARTER - PART NO. 56044736AC

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	ALTERNATOR - PART NO. 4801477AG	12.00000	EA	445.000000	5340.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

# **Extended Description:**

ALTERNATOR - PART NO. 4801477AG

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	FUEL RAIL - PART NO. 4627355AA	10.00000	EA	449.000000	4490.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

FUEL RAIL - PART NO. 4627355AA

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	GRILLE ASSEMBLY - PART NO. 68091526AA	15.00000	EA	447.000000	6705.00

Comm Code	Manufacturer	Specification	Model #	
25101503				·

# **Commodity Line Comments:**

#### **Extended Description:**

GRILLE ASSEMBLY - PART NO. 68091526AA

Date Printed: Nov 22, 2022 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	TRANSMISSION MODULE - PART NO. 68227783AA	8.00000	EA	448.000000	3584.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

TRANSMISSION MODULE - PART NO. 68227783AA

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	EXHAUST MANIFOLD - PART NO. 68066674AC	10.00000	EA	449.000000	4490.00

Comm Code	Manufacturer	Specification	Model #
25101503			

# **Commodity Line Comments:**

#### **Extended Description:**

EXHAUST MANIFOLD - PART NO. 68066674AC

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	TAIL LAMP - PART NO. 55277415AF	8.00000	EA	445.000000	3560.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

TAIL LAMP - PART NO. 55277415AF

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	HEAD LAMP - PART NO 68096439AJ	8.00000	EA	444.000000	3552.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

HEAD LAMP - PART NO 68096439AJ

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	SENSOR CRANK - PART NO 56044180AC	10.00000	EA	446.000000	4460.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

SENSOR CRANK - PART NO 56044180AC

Date Printed: Nov 22, 2022 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	PLATE, TORQUE - PART NO. 4736253AA	5.00000	EA	447.000000	2235.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

#### **Commodity Line Comments:**

#### **Extended Description:**

PLATE, TORQUE - PART NO. 4736253AA

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	CLUTCH FAN - PART NO. 68194962AA	8.00000	EA	446.000000	3568.00

Comm Code	Manufacturer	Specification	Model #
25101503			

#### **Commodity Line Comments:**

#### **Extended Description:**

CLUTCH FAN - PART NO. 68194962AA

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	WATER PUMP - PART NO 5149077AB	12.00000	EA	447.000000	5364.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

WATER PUMP - PART NO 5149077AB

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	OIL COOLER - PART NO. 68015126AA	6.00000	EA	872.000000	5232.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

OIL COOLER - PART NO. 68015126AA

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	CONVERTER, CATALYTIC - PART NO. 68371837AA	6.00000	EA	2802.000000	16812.00

Comm Code	Manufacturer	Specification	Model #	
25101503				

# **Commodity Line Comments:**

#### **Extended Description:**

CONVERTER, CATALYTIC - PART NO. 68371837AA

Date Printed: Nov 22, 2022 Page: 4 FORM ID: WV-PRC-SR-001 2020/05

#### THIS CERTIFIES THAT



# **Abacus Quality System Services, Inc.**

dba AQSS

\* Nationally certified by the: HOUSTON MINORITY SUPPLIER DEVELOPMENT COUNCIL

\*NAICS Code(s): 611430; 541990; 541690; 541620; 541618; 541611

\* Description of their product/services as defined by the North American Industry Classification System (NAICS)

Issued Date

Certificate Number

Ying McGuire
NMSDC CEO and President

Expiration Date

HS04601

Certificate Number

Ingrid M. Robinson, President

By using your password (NMSDC issued only), authorized users may log into NMSDC Central to view the entire profile: http://nmsdc.org

Certify, Develop, Connect, Advocate.

\* MBEs certified by an Affiliate of the National Minority Supplier Development Council, Inc.®